6&+$77(1:85)$1%$/<6(

*UXQGODJHQ 6FKDWWHQZXUI

%BHXUWHLOXQJVIJUXQGODJH +LQZHLVH [XU OHVVXQJ %HXUWHLOXQJ XQG OLQGHUXQJ YF
SUEHLWVJHPHLQVFKDIW IsU ,PPLVVLRQVVFKXW] /$,

%HUHFKQXQJVJUXQGODJHQ (LQJDQJVGDWHOQ

. BRQQHQVWDQG *DXKWHVHV]HLW HWF :LQGULFKWXQJ %UHLWHQJUDG $0Q
ODJHQW\S 5RWRUGXUFKPHVVHU 1DEHQK|KH %ODWWJHRPHWULH

SURJQRVHHUJHEQLYV

x $VWURQRPLVFK PD[LPDO P|JOLFKH %YHVFKDWWXQJVGDXHU NHLQH %HZ|ONXQJ
LPPHU 6ROQQHQVFKHLQ S5SRWRU DXI % HWUDFKWHU DXVJHULFKWHW

WIHQHKPLIXQJVUHOHYDQWHU :HUW
x OHWHRURORJLVFK ZDKUVFKHLQOLFKH %YHVFKDWWXQJVGDXHU
WXQWHU %YHUFNVLFKWLJXQJ GHU |[UWOLFKHQ :HWWHUGDWHAQ

2ULHOWLHUXQJVZHUWH U 6FKDWWHQZXUI

. OD] OLOQXWHQ DP 7DJ PD] BWXQGHQ SUR -DKU DVWHRQEHUVFEFKUHLWXQJ GLHVHU :HUWH ZHUGHQ GLH :($ DXWRH
. OD[ 6WXQGHQ LP -DKU WDWVIFKOLFKH %HVFKDWWXQJWHEWxHRPLW LVW WHFKQLVFK VLFKHUJHVWROOW GDVV DOQH
ZHUGHQ

'LQGSDUN 5HLQKDUGVZDOG -XQL




